| Efficiency vs Dxy |
0.1

®)

@ 0.09

>

80.08

I3

$0.07
0.06
0.05
0.04
0.03

Xy

eff

0.02
0.014-

“,O;

Ratio

(IS FYSERFY Y

0.95f-{{-4-4--- It 41t

095 20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original-0
[ Efficiency vs Dz | |—s— DQM_TT__mkFit-DQM_mod-127

—— DQM_TT__mkFit-DQM_mod_updated-127
_g 02 . : N N

ZZPT U SR W S R
> T : : : : :
0B
(&] - . . . . N
E0.14 o Frrereree frorereeeee A
o : : : : :
(7] SRS ST S A . -
2NN | S N W S

0.08

0.06

0.04

0.02

.0 |
LaEH- AR
1
0.9
0.8

Ratio

>
-4
»-

20 30
TP dz (cm)

|
W
o

l
N
o



	Contents
	Page 1


